ExtractCentralSpectrum diagnostics

Median correction
P.S. = perfectly-centred point source

80 [ | I I I I | I I I I | I I I I | I I I I T ] 80

60 — 4 60

40 + 40

20 /\ Aﬂ/\ /\ (\ +120
b "A ywi 4 /\/\ == J\ — A A]\ _

0 _&A'&GWV - v 0
20 -20
-40 -40
-60 [ —+ -60
-80 —+-80

-100 +—-100

120 +-120

_140 : | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 : _140
162.0 162.5 163.0 163.5 164.0

Wavelength [um]

——— 59, correctedlS 1 Applied Version
——— (81/S9),ps0rveq/(S1/S9)p g == Smoothed Version

Compared to P.S.



